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Period: 5  6  7  8
True/False
Indicate whether the statement is true or false.
__T__
1.
Natural selection can cause the spread of an advantageous adaptation throughout a population over time.
_F___
2.
Natural selection causes allele frequencies within populations to remain the same.
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
3.
Natural selection is the process by which

	a.
	the age of selected fossils is calculated.

	b.
	organisms with traits well suited to their environment survive and reproduce at a greater rate than less well-adapted organisms in the same environment.

	c.
	acquired traits are passed on from one generation to the next.

	d.
	All of the above


____
4.
Natural selection could not occur without

	a.
	genetic variation in species.
	c.
	competition for unlimited resources.

	b.
	environmental changes.
	d.
	gradual warming of Earth.


____
5.
Natural selection causes

	a.
	changes in the environment.

	b.
	plants and animals to produce more offspring than can survive.

	c.
	changes in the frequency of certain alleles in a population.

	d.
	All of the above


____
6.
Organisms well suited to their environment

	a.
	reproduce at a greater rate than those less suited to the same environment.

	b.
	are always larger than organisms less suited to that environment.

	c.
	always live longer than organisms less suited to that environment.

	d.
	need less food than organisms less suited to that environment.


____
7.
Darwin began to formulate his concept of evolution by natural selection after

	a.
	experimentation with animals.

	b.
	observations of many species and their geographical location.

	c.
	reading the writings of Wallace.

	d.
	agreeing with Lamarck about the driving force behind evolution.


____
8.
In each generation, the wings of experimental fruit flies were clipped short for fifty generations. The fifty-first generation emerged with normal-length wings. This observation would tend to disprove the idea that evolution is based on

	a.
	inheritance of natural variations.

	b.
	inheritance of acquired characteristics.

	c.
	natural selection.

	d.
	survival of the fittest.


____
9.
Charles Darwin’s observation that finches of different species on the Galápagos Islands have many similar physical characteristics supports the hypothesis that these finches

	a.
	have the ability to interbreed.

	b.
	acquired traits through use and disuse.

	c.
	all eat the same type of food.

	d.
	descended from a common ancestor.


____
10.
According to Darwin’s theory of natural selection, individuals who survive are the ones best adapted for their environment. Their survival is due to the

	a.
	possession of adaptations developed through use.

	b.
	possession of inherited adaptations that maximize fitness.

	c.
	lack of competition within the species.

	d.
	choices made by plant and animal breeders.


____
11.
When lions prey on a herd of antelopes, some antelopes are killed and some escape. Which part of Darwin’s concept of natural selection might be used to describe this situation?

	a.
	acquired characteristics
	c.
	not all offspring survive

	b.
	reproductive isolation
	d.
	descent with modification


____
12.
Which statement about the members of a population that live long enough to reproduce is consistent with the theory of natural selection?

	a.
	They transmit characteristics acquired by use and disuse to their offspring.

	b.
	They tend to produce fewer offspring than others in the population.

	c.
	They are the ones that are best adapted to survive in their environment.

	d.
	They will perpetuate unfavorable changes in the species.


____
13.
Charles Darwin called the ability of an organism to survive and reproduce in its specific environment

	a.
	diversity.
	c.
	adaptation.

	b.
	fitness.
	d.
	evolution.


____
14.
According to Darwin’s theory of natural selection, the individuals that tend to survive are those that have

	a.
	characteristics their parents acquired by use and disuse.

	b.
	characteristics that plant and animal breeders value.

	c.
	the greatest number of offspring.

	d.
	variations best suited to the environment.


____
15.
Which of the following phrases best describes the results of natural selection?

	a.
	the natural variation found in all populations

	b.
	unrelated but similar species living in different locations

	c.
	changes in the inherited characteristics of a population

	d.
	the struggle for existence undergone by all living things


____
16.
An adaptation is an inherited characteristic that can be

	a.
	physical or behavioral.

	b.
	physical or geographical.

	c.
	acquired during the organism’s lifetime.

	d.
	the result of artificial selection.
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A part of the theory of evolution states that genetic variation exists within a species. A small percentage of the insects exposed to the insecticide might have been immune or capable of detoxifying the substance. They survived and produced offspring that were also resistant to the insecticide.
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Sample: The dolphin’s land-dwelling ancestors were probably made up of populations with different body shapes and limbs. Those land-dwellers began to spend more time in the ocean, perhaps because food was easier to find. In each generation, those with bodies that moved efficiently in water survived longer and produced more offspring than others. Eventually, the whole population came to resemble today’s dolphins.
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